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KnowLEDGE I5 THE KEY OF SUCCESS

Pratice Test
Paper - 1

1 Prime Minister of India is?
A) Manmohan singh B) Narendra Modi
C) Sonia Gandhi D) Pranab Mukherjee
E) None of these
2 One thing made from Milk is?
A) Ghee B) Honey
C) Jam D) Jelly
E) None of these
3 Opposite of Tall is?
A) Short B) Big
C) Small D) Fat
E) None of these
4  Which animal has hump on its back?
A) Horuse B) Camel
C) Elephant D) Giraffe
E) None of these
5 Name the game which is played with bat, ball and wicket?
A) Football B) Hockey
C) Cricket D) Badminton
E) All of these
6 Fastest animal on earth is?
A) Cheetah B) Lion
C) Deer D) Tiger
E) None of these

7  Which plant grows in desert?
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10

11

12

13

14

A) Lotus B)
C) Lily D)
E) None of these

Convert 5.5 km to m?

A) 55m B)
C) 5500 m D)
E) None of these

The total distance around a figure is called its?
A) Area B)
C) Height D)
E) None of these

We celebrate Independence Day on?

A) 15th January B)
C) 15th August D)
E) None of these

National Tree of India is?

A) Banyan tree B)
C) Mango tree D)
E) None of these

Which of the following lay eggs?

A) Ostrich B)
C) Goat D)
E) None of these

Opposite of Happy is?

A)  Angry B)
C) Weak D)
E) None of these

Which is the fastest vehicle?

A)  Train B)
C) Ship D)
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Rose

Cactus

550m
55000 m

Perimeter

Length

26th January
26th August

Peepal tree

Coconut tree

Sheep

Cow

Sweet

Sad

Aeroplane

Car
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E) None of these
15 Which of the following is a reptile?
A) Crocodile
C) Fish
E) None of these
16 A figure with 8 sides is called?
A) Square
C) Octagon
E) None of these
17 Hemoglobin is present in?
A)  Water
C) Air

E) None of these

18 Largest 5-digit number having different digits is?

A) 99999
C) 56789
E) None of these
19 18:00 hours is equal to?
A) 4:00 PM
C) 6:00PM
E) None of these
20 Which animal is called King of Jungle?
A) Tiger
C) Lion
E) None of these
21 Which flower is white in colour?
A) Rose
C) Sunflower
E) None of these

22 Baby of horse is called?
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Crab
Rabbit

Pentagon

Hexagon

Blood
Soil

99998
98765

5:00 PM
19:00

Elephant

Bear

Marigold

Jasmine
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A) Calf
C) Cub
E) None of these
23 Shape of Egg is?
A) Circle
C) Oval
E) None of these
24  Which insect has colourful wings?
A) Butterfly
C) Housefly
E) None of these
25 Person who plays music is called?
A) Clown
C) Plumber
E) None of these
26 Cryoflionis called?
A)  Trumpet
C) Roar
E) None of these
27 In aleap year February has?
A) 27 days
C) 29days

E) None of these

B)
D)

28 If 8 books cost Rs. 56, then cost of one book is?

E) None of these
29 Cow livesin?
A) Den

C) Burrow
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Colt

Kitten

Semi-Circle

Square

Honey-bee

Cockroach

Musician

Soldier

Growl

Quack

28 days
30 days

Stable
Shed
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E) None of these
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Who wrote the National Anthem - Jana Gana Mana?

A) Rabindra Nath Tagore

C) Bankim Chandra Chetterjee
E) None of these

Which bird crows in the morning?
A) Sqgarrow

C) Myna

E) None of these

We celebrate Christmas on?

A) 26th Januray

C) 25th December

E) None of these

Where do Muslims worship?

A) Temple

C) Gurudwara

E) None of these

How many sides does a triangle have?

E) None of these

How many hours the day has?
A) 6 hours

C) 18hours

E) None of these

200 paise is equal to?

A)  1rupee

C) 100 rupee

E) None of these

Who is the Father of our Nation?
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A) Jawaharlal Nehru B) Mahatma Gandhi
C) Rajendra Prasad D) Sardar Patel

38

39

40

41

42

43

44

E) None of these

Divide 643 by 9 and write the quotient and remainder.

A) 5land3 B) 6land5
C) 71and4 D) 8land?7
E) None of these

Find the number that is 2367 more than 32777

A) 5644 B) 5643

C) 5645 D) 5646

E) None of these

How many sides are there in a Hexagon?

E) None of these

India lies in which continent?
A) Europe B) Africa
C) Asia D) North America

E) None of these

1024 Kilobytes is equal to?

A) 8 Bits B) 1 Megabyte (MB)
C) 1 Gigabyte (GB) D) 1Byte

E) None of these

The average age of 6 students is 11 years. If two more students of age 14 year each
join, then their average age will become?

A) 11 B) 11.5

C) 11.75 D) 12

E) None of these

Which organ purify our blood?

A) Heart B) Kidney
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C) Brain D) Liver
E) None of these

45 MS-Paint is a program which is used for?
A) Presentations B) Calculations
C) Drawing D) Creating databas
E) None of these

46 Viral Kohli is associated with which sports?
A) Hockey B) Chess
C) Cricket D) Boxing
E) None of these

47 Who is the current president of United States of America (USA) (As on April 2017)?
A) Barack Obama B) Bill Clinton
C) George Bush D) Donald Trump
E) None of these

48 Which planet is nearest to Earth?
A) Venus B) Mars
C) Mercury D) Jupiter
E) None of these

49 Agra is situated on the bank of river?
A) Ganga B) Krishna
C) Sutlej D) Yamuna
E) None of these

50 4032\ 32 = 126. Which of these is FALSE?
A) 4032/126 =32 B) 126*31=4032
C) 126/32=4032 D) None of these

E) None of these
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Pratice Test
Paper - 2

1 Ravisells 152 books in one day. How many books he sell one week?
A) 1064 B) 1065
C) 1066 D) 1067
E) None of these

2  Which animal is called the ship of the desert?
A) Donkey B) Elephant
C) Camel D) Horse
E) None of these

3 20 millon is equal to?
A) 2lakh B) 20 lakh
C) 20crore D) 2crore
E) None of these

4  Which month has the least number of days?
A) Januray B) February
C) March D) april
E) None of these

In MS-Word wavy line of which colour under a word indicates a spelling mistake?

A) Green B) Red
C) Blue D) Yellow
E) None of these

6  Which planet is nearest to Sun?
A) Venus B) Mars
C) Mercury D) Jupiter

E) None of these
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Tina took dinner at 8:55 p.m. She decided to go to bed at 1 hr 20 min later. At

¢ what time did she go to bed?
A) 10:15 p.m. B) 10:20 p.m.
C) 10:25p.m. D) 10:30 p.m.
E) None of these

8 Thedogjumped............. The table.
A) Up B) into
C) in D) upon

E) None of these
9 How many teeth does an adult human have?
A) 30 B) 32
C) 34 D) 36
E) None of these
10 A Rectangle has ........ Sides.
A) 2 B) 3
C) 4 D) 5
E) None of these
11 Face value of 6 in 6391 is?
A) 60 thousand B) 6thousand
C) 6 hundred D) 6
E) None of these
12 Vowels are?
A) a, ek lu B) b,el,0,m
C) a,elou D) b,el, 0,n
E) None of these
13 12*10=50+37+2. Find the missing number.
A) 22 B) 33
C) 44 D) 55
E) None of these

14 Which festival is called the festival of light?
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16

17

18

19

20

21

A) Diwali B) Holi

C) Dussehra D) Christmas

E) None of these

Which city is called City of Golden Temple?

A) Kolkata B) Jaipur

C) Amritsar D) Delhi

E) None of these

Water boils at?

A) 20degreeC B) 100 degree C

C) 200degreeC D) 300 degreeC

E) None of these

Which of the following is correctly spelt?

A) Mature B) naturel

C) Dictionary D) presant

E) None of these

Which place value is used to prove that 6,169 is less then 6,619?
A) ones place B) Tens place

C) Hundreds place D) Thousands place

E) None of these

India celebrate Republic Day on?

A) 15th August B)  15th January
C) 26th August D)  26th January
E) None of these

The ....... Is fine today.

A) Whether B) weather
C) Wether D) wheather

E) None of these

A 6-digit number starts with .......... Place in the Indian system?
A) tenthoushand B) lakh
C) tenlakh D) crores
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E) None of these
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Which of the following is the National flower of India?

A) Rose B)
C) Lotus D)
E) None of these

Which is the longest river in the world?

A) Ganga B)
C) Amazon D)

E) None of these

Marigold
Lily

Nile

Brahmaputra

Find the missing number - 187, 183, 173, 168, 158,?

A) 155 B) 154

C) 153 D) 125

E) None of these

Which of the following is an indoor games?

A) Chess B) Football
C) Cricket D) Hockey
E) None of these

What is the capital of Jharkhand?

A) Ranchi B) Raipur
C) Dhanbad D) Patna

E) None of these

Internet is used for?

A) E-mail B) Chatting
C) Surfing D) All of these
E) None of these

Gateway of India is situated at?

A) New Delhi B) Mumbai
C) Hyderabad D) Kolkata

E) None of these

P.T.O. stands for?
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A) Please Take Over B) Please Tick Out
C) Please Turnon D) Please Turn Over
E) None of these
30 The average of first six odd number is?
A) 5 B) 6
c) 7 D) 8
E) None of these
31 Which bird lays its eggs in the nest of a crow?
A) Pigeon B) Parrot
C) Cuckoo D) Eagle
E) None of these
32 Who is known as father of English Poetry?
A) William Shakespeare B) John Milton
C) Geoffrey Chaucer D) Charles Dickens
E) None of these
33 Teacher's Day is celebrated on?
A) 5th September B) 5th Octobre
C) 5th November D) 5th December
E) None of these
34 Who is known as Iron man of Indian?
A) Jawaharlal Nehru B) Mahatma Gandhi
C) Sardar Patel D) Subhas Chandra Bose
E) None of these
35 Which of the following number is divisible by 3, 6 and 9?
A) 45 B) 54
C) 63 D) 81
E) None of these
36 Milkha Singh is associated with which of the following sports?
A) Athletics B) Boxing
C) Cricket D) Hockey
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37 Who said - 'You give me blood, | will give you freedom'?

A) Subhash Chandra Bose
C) Jawabharlal Nehru

E) None of these
38

A) 3000
C) 27000

E) None of these

B) Mahatma Gandhi
D) Sardar Patel

Estimate the product by rounding each number to the nearest hundred: 305 x 95?

B) 30000
D) 300

39 Which of the following animal gives us wool?

A) Cow
C) Horse
E) None of these
40 Who built Taj Mahal at Agra?
A) Akbar
C) Jahangir

E) None of these

41 Which of the following is correctly spelt?

A) Februery
C) Januray
E) None of these
42 Who build our houses?
A) Watchman
C) Postman

E) None of these

B) Sheep
D) Goat

B) Shahjahan
D) Babur

(B) Septamber
(D) December

B) Gardener
D) Mason

43 Which of the following is not an even number?

A) 2
C) 35

E) None of these
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44

45

46

47

48

49

50

Who was famously known as Punjab Kesari?

A) Bhagat Singh B) Lala Lajpat Rai

C) Sardar Patel D) Chandra Sekhar Azad
E) None of these

My age is 8 years and | am 30 years younger than my father. What is my father's

age?
A) 38 B) 28
C) 48 D) 8

E) None of these

Who was the first person to set foot on moon?

A) Neil Armstrong B)  Yuri Gagarin
C) Edmund Hilary D) DenisTito
E) None of these

The normal boiling point of water is?

A) 90 degree B) 100 degree
C) 80degree D) 110degree
E) None of these

Traffic signal of which colour ask us to stop?

A) Green B) Yellow

C) Red D) Blue

E) None of these

Opposite of Long is?

A) Small B) Near

C) Tail D) Short

E) None of these

The Sunrises in the ........ ?
A) Football B) Hockey
C) Cricket D) Rugby

E) None of these
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Pratice Test
Paper - 3

1  Which of the follwing is the national animals of India?
A) Lion B) Tiger
C) Elephant D) Rhinoceros
E) None of these
2 How many colours are there in India's National Flag?
A) Two B) Three
C) Four D) Five
E) All of these
3  When do we celebrate our Indpenndence Day?
A) 15th January B) 26th January
C) 26th August D) 15-Aug
E) All of these
4  Which of the follwing month have 31 days?
A) October B) February
C) June D) April
E) None of these
5 Where does a dog live?
A) Den B) Bee-hives
C) Kennel D) Burrow
E) None of these
6  Which of the follwing organ is used to taste food?
A) Tongue B) Lips
C) Teeth D) Nose
E) All of these

7  Which of the follwing is not an outdoor game?

15|Page



Knowledge Is The Key Of Success

10

11

12

13
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A) Cricket

C) Hockey

E) None of these

How many players are there in a cricket team?
A) 9

c) 11

E) All of these

Young one of a cat is called?

A) Calf

C) Puppy

E) All of these

How many days are there in a Leep year?

A) 360

C) 366

E) None of these

Which of the follwing is the biggest sea animals?
A) Blue whale

C) Shark

E) All of these

Who was populary known as Netaji?

A) Vallabbhai Patel

C) Jawaharlal Nehru

E) None of these

Who is the author of the book -Broken Wing?
A) Mahatma Gandhi

C) Sarojini Naidu

E) All of these

Kuchipudi is the dance from of which state?
A) Tamil Nadu

C) Karnatka
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Football

Table tennis

10
12

Kitten
Cub

365
367

Dolphin

Penguin

Bal Gangandhar Tilak
Subhash Chandra Bose

Annie Besant

Dadhabhai Naoroji

Andhra Pradesh

Kerala
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22

E) All of these

Who was the first President of India?
A) Dr. Rajendra parsad

C) C. Rajagopalachari

E) None of these

Who is known as Father of Indian Constitution?

A) Jawaharlal Nehru

C) Abul kalam Azad

E) All of these

Giddha is the folk dance of?
A) Punjabi

C) Guijarat

E) All of these

Who invented Computer?
A) Thomas Alva Edison

C) Alexander Graham Bell
E) None of these

Martyr's Day is celebrated every year on?
A) 15th August

C) 30th January

E) All of these

Largest 3-digit number completely divided by 7 is?

A) 991

C) 993

E) All of these
6500+500+250+90+5=?
A) 7342

C) 7344

E) None of these

Gir National Park in Gujarat is famous for?
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Jawahar lal Nehru

Dr. S. Radhakrishan

Dr. B. R. Ambedkar

Dr. Rajendra Parsad

Assam

Andhra Pradesh

Pascal

Chaeles Babbage

15th March
2nd October

992
994

7343
7345
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A) Elephant B) Rhinoceros
C) Lion D) Tiger
E) All of these
23 Smallest state of India is?
A) Goa B) Sikkim
C) Tripura D) Mizoarm
E) All of these
24 Highest dam of India is?
A) Hirakud Dam B) Idukki Dam
C) Bhakra Nangal Dam D) Tehri Dam
E) None of these
25 Agrais situated on the bank of river?
A) Ganga B) Yamuna
C) Narmada D) Gomti
E) All of these
26 Round 8573 to the nearest ten?
A) 8570 B) 8580
C) 8560 D) 8500
E) None of these
27 Estimate the product by each number of the nearest hundred: 241x382.
A) 800 B) 8000
C) 80000 D) 800000
E) None of these
28 Most widely spoken language in the world is?
A) Hindi B) English
C) Spanish D) Mandarin(Chinese)
E) All of these
29 Which of the following is known a city of Palaces?
A) Jaipur B) Kolkata
C) New Delhi D) Bangalore
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30

31

32

33

34

35

36

37

E) None of these

Rich source of Vitamin-C is?
A) Apple

C) Guava

E) None of these

Cataract is the disease of?

A) Ears

C) Eyes

E) All of these

Gateway of India is located at?
A) New Delhi

C) Kolkata

E) All of these

Capital of Uttarakhand is?

A) Lucknow

C) Dehradun

E) None of these

Sunis a?

A) Star

C) Comet

E) All of these

Goitre is caused due to the deficiency of?
A) lIron

C) Magnesium

E) None of these

Longest river in the world is?
A) Amazon

C) Ganga

E) None of these

Largest island in the world is?
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Mango

Orange

Lungs

Heaet

Mumbai

Chennai

Allahabad

Ranchi

Planet

Asteroid

lodine

Zinc

South-China sea

Nile
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A) Greenland B) Nes Guinea
C) Madagascar D) Sumatra
E) All of these
38 Which of the following is an example of an output device of a computer?
A) Printer B) Keyboard
C) Scanner D) Mouse
E) All of these
39 Which of the following number is completely divisible by 2,3,4 and 5?
A) 1000 B) 1100
C) 1200 D) 1300
E) All of these
40 LBW isrelated to which sports?
A) Football B) Hockey
C) Badminton D) Cricket
E) All of these
41 Saina Nehwal is associated with which sports?
A) Badminton B) Table tennis
C) Chese D) Archery
E) All of these
42 Olylmpics games are held after every?
A) 3year B) 4vyear
C) 5Syear D) 6year
E) All of these
43 How many sides are there in a pentagon?
A) 3 B) 4
Q 5 D) 6
E) All of these
44 A place where bees are kept is called?
A) Apiary B) Aviary
C) Zoo D) Nest
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46

47

48

49

50

E) None of these

Who discovered Penicillin?

A) Robert Koch

C) Madam Curie

E) All of these

Scientific study of birds is called?
A) Ornithology

C) Otology

E) None of these

Largest desert in the world is?

A) Arabian desert

C) Gobidesert

E) All of these

United Nation (UN) day is celebrated on?
A) 24th August

C) 24thOctober

E) None of these

In which season we wear warm clothes?
A)  Autumm

C) Winter

E) None of these

Which bird can not fly?

A) Peacock

C) Ostrich

E) All of these
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Linus Pauling

Alexander Flemming

Mycology

Entomology

Sahara desert

Kalahari desert

24th September
24th Novenber

Spring

Summer

Oowl

Crane
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Pratice Test
Paper - 4

1 Abook written by unknown author is called?
A)  Anonymous B)  Anarchist
C) Contemporary D) Custodian
E) All of these
2 Rabindranath Tagore was a?
A)  Film Maker B) Politician
C) Scientist D) Poet
E) All of these
3 Which of the following facts about Rectangle is false?
A) All 4sides are not equal B) All 4 sides are equal
C) Ithas4corners D) Ithas 4 edges
E) None of these
4  Which country won most gold medals in Rio Olympics 2016?
A) USA B) China
C) United Kingdom D) Germany
E) None of these
5 How many months have 30 days in a year?
A) 4 B) 5
C) 6 D) 7
E) All of these

There are 650 passengers on a train, 350 of them get down at a station. How many

6
passengers are left in the train?
A) 200 B) 250
C) 300 D) 350

E) All of these
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13

14

Who played the main character in the movie RUSTOM?

A)  Akshay Kumar B) Salman Khan
C) Shahrukh Khan D) Aamir Khan
E) None of these

A house made of ice is called a/an?

A) Hut B) Houseboat
C) Camper D) lIgloo

E) All of these

Which of the following is a disease caused by mosquite?

A) Goitre B) Malaria

C) Cataract D) Scurvy

E) All of these

Charminar is in?

A) Hyderabad B) Kolkata

C) Mumbai D) Bhopal

E) None of these

An output device used to convert a text or an image into its electronic representation,
which can be viewed on the monitor is called?

A) Plotter B) Scanner

C) Printer D) Web Camera
E) None of these

Which one is different from the other three?

A) Square B) Rectangle

C) Circle D) Rhombus

E) All of these

Ramayana, Mahabharata and Bhagwad Gita are the holy books of?

A) Muslims B) Hindus

C) Sikhs D) Christians

E) None of these

The fencing of a square garden is 20 cm in length. How long is one side of the garden?
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16

17

18

19

20

21

A) 5m

C) 10m

E) All of these

Which is different from the other three?
A) Chicken

C) Frog

E) None of these

B)
D)

B)
D)
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20m
15m

Crocodile

Fish

Which of the following number is completely divisible by 4,6 and 12?

A) 8
C) 18
E) All of these

On whose memory Nobel prize is awarded?

A) Alfred Nobel
C) Stephen Hawking
E) All of these

Nelson Mandela was the former President of which country?

A) Brazil

C) Argentina

E) None of these

How many legs does a mosquito have?
A) 4

c) 8

E) All of these

The two holes in your nose are called?
A) Nostrils

C) Melanin

E) None of these

Which planet is known as Red Planet?
A) Venus

C) Jupiter
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Thomas Edison

Issac Newton

South Africa

Britain
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Larynx

Vertebrae

Earth
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22

23

24

25

26

27

28

29

E) All of these

The hard parts inside your body are called?
A)  Skin

C) Limbs

E) None of these

B)
D)
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Bones

Muscles

Which key is used to move the cursor to the beginning of the next line?

A) Enter Key

C) F12Key

E) All of these

Deepa Karmakar is associated with which sports?
A) Badminton

C) Boxing

E) None of these

A land which is always soft and wet is called?

A) Meadow

C) Forest

E) All of these

Fill in the blanks: Ram has beeniill
A) In

C) At

E) None of these

Which gives us energy to work and play?
A) Medicine

C) Water

E) All of these

In which country Rio Olympics 2016 was held?
A) USA
C) Brazil

E) None of these

B)
D)

D)

«eeeeeeees Three months.

B)
D)

Spacebar Key
Shift Key

Shooting

Gymnastics

Swamp

Garden

for

From

Air
Food

United Kingdom

Japan

One box has 34 mangoes. How many mangoes are there in 12 such boxes?
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A) 408 B) 340
C) 420 D) 380

30

31

32

33

34

35

36

E) All of these

Perimeter of a square garden is 400 meter. What is the length of its each side?
A)  400m B) 200m

C) 100m D) 1600m

E) None of these

How many players are there in a Polo team?

A) 6 B) 8

C) 4 D) 11

E) None of these

Riya bought 9 pencil for Rs 12 each and 12 pen for Rs 25 each. What is the total amount
she paid to the shopkeeper?

A) 308 B) 408

C) 400 D) 350

E) All of these

Study of weather is called?

A) Meteorology B) Biology

C) Astrology D) Nephology
E) None of these

Quarter is equal to?

A) 1 B) 1/2

c) 1/3 D) 1/4

E) None of these

Which number will completely divide 14, 49 and 63?

A) 4 B) 5

C) 6 D) 7

E) All of these

Thereisacat......... the house.

A) Into B) by
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C) In D) for
E) None of these
37 Which of the following in an European country?
A) South Africa B) Iltaly
C) Australia D) Brazil
E) All of these
38 How many Grand Slam tennis tournaments are held every year?
A) 1 B) 2
Q 3 D) 4
E) None of these
39 Ganymede is the satellite of which planet?
A) Saturn B) Jupiter
C) Neptune D) Venus
E) All of these
40 How many numbers between 1 to 100 are divisible by 7?
A) 10 B) 14
) 20 D) 25
E) None of these
41 Which language is used by computer to process data.
A) High level Language B) Low Level Language
C) Binary Language D) Algorithmic Language
E) All of these
42 Guess the missing number: 2,4,8,16?
A) 16 B) 32
C) 64 D) 128
E) All of these
43 A computer consist of?
A) Input device and Output device B) Memory
C) CPU D) All of these

E) None of these
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The process of plants using energy from sunlight to turn carbon dioxide into food is
44
known?
A) Transpiration B) Oxidation
C) Photosynthesis D) Respiration

45

46

47

48

49

50

E) All of these

Which chemical element is commonly present in common salt?

A) lodine B) Potassium
C) Manganese D) Silver

E) None of these

The only metal that is liquid at room temperature is?

A) Lead B) Silver

C) Gold D) Mercury
E) All of these

Find the odd one out?

A)  Linux B) MS-Word
C) Windows D) DOS

E) None of these

A Cuboid has ......... edges.

A) 4 B) 8

¢ 12 D) 16

E) All of these

Jagadish Chandra Bose was a?

A) Politician B) Writer
C) Cricketer D) Scientist
E) None of these

Convert 7km 60m into meter.

A) 760 B) 76

C) 7060 D) 7600

E) All of these
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Which of the following word is most nearly the same in meaning to the word - RECTIFY?

A) Damage B) Correct
C) Praise D) Please

E) None of these

A house for storing granis is called?

A) Cellar B) Store

C) Granary D) Godown
E) All of these

Fill in the blanks: The lady takes pride ............ her beauty.

A) Over B) of

C) at D) in

E) None of these

Which of the following word is correctly spelt?

A) Careful B) Untill

C) Fulfil D) Final

E) All of these

National Aquatic Animal of India is?

A) River Dolphin B) Blue whale
C) Gangetic Shark D) Octopus
E) None of these

Lemon is the good source of which vitamin?

A) Vitamin A B) Vitamin B
C) VitaminC D) Vitamin D

E) All of these
Who invented light bulb?
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10

11

12

13

14

A) Galileo Galilei B)
C) Benjamin Franklin D)
E) All of these

Don Bradman was a?

A) Footballer B)
C) Athelete D)
E) None of these

Another name for Maize is?

A) Gourd B)
C) Corn D)
E) None of these

Water is made up to two elements. They are
A) Nitrogen and Hydrogen B)
C) Hydrogen and oxygen D)
E) All of these

How many lungs does the human body have?
A) 1 B)
c 3 D)
E) None of these

Ceylon is the old name of which country?

A) Sri Lanka B)
C) Myanmar D)
E) None of these

Bible is the holy books of?

A) Muslims B)
C) Sikhs D)

E) None of these
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Thomas Edison

Marie Curie

Cricketer

boxer

Wheat

Pulses

Nitrogen and Helium

Oxygen and Nitrogen

Thailand

Vietnam

Hindus

Christians

Ram has 45 mangoes. If he puts 6 mangoes in each basket, then how many mangoes

will be in the final basket?

A) 3 B)
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15

16

17

18

19

20

21

C) 5 D) 6
E) None of these

Which is different from the other three?

A) 2 B) 11
c) 29 D) 54

E) None of these

Riya saved Rs. 1,568 in January. She saved Rs. 2,368 in February and Rs. 4,025 in March.

Then she spent Rs. 1,500 on a keyboard. How much money does Riya have left?

A) 6351 B) 4561

C) 6461 D) 5461

E) None of these

which of the following is a fruit?

A) Carrot B) Guava

C) Peas D) Cauliflower

E) All of these

The national anthem Jana Gana Mana was written by?

A) Mohammad Igbal B) Gulzar

C) Rabindranath Tagore D) Bankim Chandra Chatterjee
E) None of these

Choose the word which can be substituted for the given sentence - A disease which
spread by contact.

A) Infectious B) Epicure

C) Contingent D) Contagious

E) None of these

Which of the following is the largest milk producing country of the world?
A) USA B) India

C) China D) Germany

E) None of these

You will need water for this sporting event. What is it's name?

A) Skiing B) Skate Boarding
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22

23

24

25

26

27

28

C) lce Hockey D)
E) All of these

| decimetre is equal to?
A) 1 centimetre B)
C) 10centimetre D)

E) None of these
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Scuba diving

0.10 centimetre

0.01 centimetre

Rohan completed his English and Mathematics homework before dinner. He started

English homework at 6:40 P.M. and took 50 minutes for English and 25 minutes for

Mathematics. At what time he finished his homework?

A) 7:35P.M B)
C) 7:55P.M D)
E) None of these

On which river Nagerjuna Sagar dam is built?
A) Sutlej B)
C) Narmada D)

E) None of these

7:45 P.M.
8:00 P.M

Krishna

Godavari

N4
a,

Sneha cut a shape out of a paper. The Shape had 3 sides fo different length. Which of

the following shaps Sneha has made?

A) Circle B)
C) Square D)
E) None of these

Study of Fossils is called?

A) Pedology B)
C) Palaeontology D)
E) All of these

Rectangle

Triangle

Geology
Virology

Two sides of a rectangle are 6cm and 9cm. Find the area of rectagle.

A) 54cm square B)
C) 15cm square D)

E) None of these

45cm square

63cm square

Select the missing number in the sequence - 3,9,27,81,?

32|Page



D 5l &t |, <&
Knowledge Is The Key Of Success GW(—“EaQ hshala

29

30

31

32

33

34

35

A) 729 B) 90

C) 120 D) 243

E) None of these

Which of the following word is correctly spelt?

A) Dictionery B) Dictionary
C) Dicsionary D) Dectionary

E) None of these
Who is the first Indian woman to win an individual medal at the Olympic games?

A) Karnam Malleswari B) Saina Nehwal
C) PTUsha D) Mary Kom

E) None of these

For which of the following field Maric Curie received Nobel Prize?
A) Chemistry B) Physics

C) Literature D) Peace

E) None of these

Write 6:00 P.M. as 24-hour time.

A) 18:00 B) 20:00

C) 14:00 D) 22:00

E) None of these

Sanjana withdraw Rs 875 from her bank account. As a result now her account has Rs

8250 in it. How much money was were in the account before transfer?

A) 10125 B) 10225

C) 9925 D) 10025

E) None of these

As per epic story Ramayana, how many heads did Ravana had?
A) 3 B) 5

c) 8 D) 10

E) None of these

What number is 1/4 of 84?
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A) 20 B) 21
) 22 D) 24

36

37

38

39

40

41

42

E) None of these

Select the helping verb in the following sentence - | am packing my bags.
A) I B) Am

C) Packing D) My

E) None of these

Who among the following was once Prime Minister of India?

A) Zakir Hussain B) Shankar Dayal Sharma
C) Viswanath Pratap Singh D) Rajendra prasad

E) None of these

Tennis player Rafael Nadal belongs to which country?

A) Switzerland B) USA

C) Spain D) Germany

E) None of these

Before becoming Prime Minister of India Narendra Modi was the Chief Minister of
which state?

A) Gujarat B) Maharashtra

C) Rajasthan D) Madgya Pradesh

E) None of these

In Ramayana, Kumbhakarana was the brother of?
A) Ram B) Hanuman
C) Ravana D) Meghnad

E) None of these

Which of the following is a semicolon?

A) B) ,

c " D) Both A&B
E) None of these

A group fo sheep is called?

A) Pack B) Flock
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43

44

45

46

47

48

49

C) School D) Pride

E) All of these

Which of the following option is better buy?

A) 5 kg mangoes for Rs 175/- B) 7 kg mangoes for Rs 315/-
C) 6 kg mangoes for Rs 180/- D) 4 kg mangoes for Rs 160/-
E) None of these

Headquarter of company Samsung is in which country?

A) South Korea B) China

C) Singapore D) Taiwan

E) None of these

How many sides does a Hexagon have?

A) 4 B) 5

C) 6 D) 8

E) None of these

Which spinner took all the 10 wickets in an innings of a cricket Test match?
A) Shane Warne B) Muttiah Muralitharan
C) Anil Kumble D) Ravichandran Ashwin
E) None of these

Chief Minister of Tamil Naidu is (As on April 2017)?

A) Thiru O.Paneerselvam B) J Jayalalithaa

C) K Palaniswami D) K. Chandrashekar Rao
E) None of these

Find the missing number in the following series - 1, 3,5, 7, 9,?

A) 13 B) 10

c) 12 D) 11

E) None of these

Identify the article in the following sentence - He helped me in the exam.
A) He B) helped
C) in D) the

E) None of these

35| Page



Knowledge Is The Key Of Success

G(‘D_Pag aﬂsﬁa]

KnowLEDGE I5 THE KEY OF SUCCESS

N4
a,

Which of the following word is most nearly the same in meaning to the given word -

50
GATHER?
A) Throw B) Fight
C) Collect D) Angry
E) None of these
ANSWERS - 1
1 B 2 A 3 A 4 B 5 C 6 A 7 D 8 c 9 B 10 C
11 A 12 A 13 D 14 B 15 A 16 C 17 B 18 D 19 C 20 C
21 D 22 B 23 C 24 A 25 B 26 C 27 C 28 B 29 A 30 A
31 B 32 C 3 B 3 B 35 D 36 D 37 B 38 C 39 A 40 C
41 C 42 B 43 C 44 B 45 C 46 C 47 D 48 A 49 D 50 C
ANSWERS - 2
1 A 2 c 3 D 4 B 5 B 6 c 7 A 8 D 9 B 10 C
11 D 12 € 13 B 14 A 15 C 16 B 17 A 18 C 19 D 20 B
21 B 22 C 23 B 24 D 25 A 26 A 27 D 28 B 29 D 30 B
31 € 32 C 3 A 34 C 3 B 3 A 37 A 3 B 39 B 40 B
41 C 42 D 43 C 44 B 45 A 46 A 47 B 48 C 49 D 50 D
ANSWERS - 3
1 B 2 B 3 D 4 A 5 C 6 A 7 D 8 cC 9 B 10 C
11 A 12 D 13 C€C 14 B 15 A 16 B 17 A 18 D 19 C 20 D
2 D 22 C 23 A 24 D 25 B 26 A 27 C 28 D 29 B 30 D
31 ¢ 32 B 3 C 3 A 3 B 3 D 37 A 3 A 3 C 40 D
41 A 42 B 43 C 44 B 45 D 46 A 47 B 48 C 49 C 50 B
ANSWERS - 4
1 A 2 D 3 B 4 A 5 A 6 c 7 A 8 D 9 B 10 A
11 B 12 C€ 13 B 14 A 15 A 16 D 17 A 18 B 19 B 20 A
22 D 22 B 23 A 24 D 25 B 26 B 27 D 28 C 29 A 30 C
31 ¢ 32 B 3 A 34 D 35 D 36 C 37 B 3 D 39 B 40 B
41 B 42 B 43 D 44 C 45 A 46 D 47 B 48 C 49 D 50 C
ANSWERS -5
1 B 2 c 3 D 4 B 5 A 6 c 7 B 8 B 9 C 10 C
11 B 12 A 13 D 14 A 15 D 16 C 17 B 18 C 19 D 20 B
22 D 22 C 23 C 24 B 25 D 26 C 27 A 28 D 29 B 30 A
31 B 32 A 3 A 343 D 35 B 36 B 37 C 38 C 39 A 40 C
41 D 42 B 43 C 44 A 45 C 46 C 47 C 48 D 49 D 50 B
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Pratice Test
Paper - 6

1  Which ocean lies to the south of India?
A) Artic Ocean B) Pacific Ocean
Q) Indian Ocean D) Atlantic Ocean
E) All of these

2 Odegree is equivalent to

A) 253k B) 263k
Q) 273k D) 283k
E) None of these

3 2016 Olympics Games was held in which country?
A) Germany B) United States
Q) Japan D) Brazil
E) All of these

4 25%ofdis:

A) 1 B) 2
Q) 4 D) 10
E) None of these

5 A book containing summarised information on all the branches of knowledge :

A) Dictionary B) Encyclopedia
Q) Anthology D) Directory
E) All of these

A computer - controlled device for training exercise that duplicates the work

6
environment is a
A) Simulator B) Duplicator
Q) Train D) COM device
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E) None of these

7 2018 FIFA Football World Cup will be held in?

A) China B) Russia
Q) Australia D) England
E) None of these

8 AR Rahman is related to which of the following fields?
A) Cricket B) Journalism
Q) Music D) Scientist
E) All of these

9 Abhinav Bindra is associated with which sports?

A) Boxing B) Shooting
Q) Badminton D) Wrestling
E) None of these

10 After Hindi which is the second most spoken language in India?
A) Bengali B) Urdu
Q) Kannada D) Tamil
E) All of these

11 An astronaut in outer space will observe sky as:

A) White B) Black
Q) Blue D) Red
E) None of these

12 Animals living both on land and in water is called?
A) Mammals B) Camivorous
Q) Amphibian D) Herbivorous
E) All of these

13 1 Quintalis equal to?

A) 1kg B) 10kg
Q) 100kg D) 1000kg
E) None of these

14 Bambooisa?
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16

17

18

19

20

21

A) Tree

Q) Grass

E) All of these
Brightest planet of the solar system is?
A) Mercury

Q) Jupiter

E) None of these
Capital of Lakshadweep is?
A) Silvassa

Q) Portblair

E) All of these

Chilka lake is located at?
A) West Bengal

Q) Tamil Nadu

E) None of these
6/10+2/5=?

A) 10

Q) 5

E) All of these

Capital of United States of America (USA) is:
A) New York

Q) Califormia

E) None of these

Common cold is caused by?

A) Bacteria

Q) Worms

E) All of these

First Indian to take hat-trick in Test cricket is?
A) Chetan Sharma

Q) Harbhajan Singh
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Weed
Shrub

Venus

Saturn

Kavaratti

Daman

Odisha

Rajasthan

San Fransisco

Washington D.C

Virus

Protozoans

Kapil Dev

Javagal Srinath
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22

23

24

25

26

27

28

29

E) All of these

Convert 1000 cm into meter?

A) im

Q) 10m

E) None of these

Cowards die many times ........... Their death.
A) After

Q) About

E) None of these

Dalhousie hill station is in which state?
A) Himachal Pradesh

Q) Tamil Nadu

E) All of these

Data that is copied from an application is called?

A) Clipboard

Q) Copyboard

E) None of these
Deficiency of Iron causes?
A) Night blindness

Q) Marasmus

E) All of these

Dengue fever is caused by?

A) Bacteria
Q) Virus
E) None of these

Dipa Karmakar is related to which sports?
A) Gymnastic
Q) Badminton

E) All of these

Disease caused due to deficiency of Protein is known as:
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5m

100m

before

for

Jammu and Kashmir

West Bengal

Chessboard

Pasteboard

Scurvy

Anaemia

Fungus

Protozoa

Shooting
Wrestling
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31

32

33

34

35

36

A) Kwashiorkar
Q) Cushing's disease
E) None of these

Eden Garden cricket stadium is in?
A) Chennai

Q) Kolkata

E) All of these

Egg is the rich source of:

A) Vitamin A

Q) Vitamin C

E) All of these

Female Anopheles mosquito causes:
A) Malaria

Q) Dengue Fever

E) All of these

Fill in the blanks : She is clever .......... Painting.

A) In

Q) At

E) All of these

First heart transplant surgery was done by?
A) Robert Koch

Q) Alexander Fleming

E) None of these

First Indian to win Gold at Olympics is?
A) Leander Paes

Q) Karnam Malleswari

E) All of these

First recipient of Param Vir Chakra was?
A) Somnath Sharma

Q) Satvik Bose
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Goitre

Gaucher's disease

Mumbai
New Delhi

Vitamin B

Vitamin D

Filariasis

Yellow Fever

with

on

Christian Bamard

Walton lillehel

Sania Mirza

Abhinav Bindra

Kuldeep Singh
Pankaj Chopra
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E) All of these

37 First lake film of India is?

A) Alam Ara B) Raja Harishchandra
Q) Ayodhyecha Raja D) Mohini Bhasmasur
E) None of these

38 First Vice-President of India was?

A) Dr. Rajendra Prasad B) Dr. S Radhakrishan
Q) Vallabhai Patel D) John Mathai
E) None of these

39 First woman President of India is?
A) Pratibha Patil B) Indira Gandhi
Q) Sarojini Naidu D) Jlayalalitha
E) All of these

40 Give one word for one who eats everything.

A) Omnivores B) Omnipotent
Q) Omniscient D) Herbivorous
E) None of these

41 Golden Temple is situated in :

A) Chandigarh B) Jalandhar
Q) Ludhiana D) Amritsar
E) None of these

42 Group of instruction that directs a computer is called?
A) Storage B) Memory
Q) Program D) Logic
E) All of these
43 Guwahati is situated on the bank of river?
A) Ganga B) Bharmaputra
Q) Ravi D) Teesta
E) All of these

44 Hill station Mount Abu is in which State?
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A) Gujarat B) Uttrakhand
Q) Rajasthan D) West Bengal
E) All of these

45 Hindi Diwas is observed across India on:
A) 14th September B) 14th July
Q) 14th March D) 14th November
E) All of these

46 Hirakud dam is built on the river?
A) Cauvery B) Mahanadi
Q) Krishna D) Sutlej
E) All of these

47 How many islands are there in Lakshadweep?

A) 17 B) 27
Q) 36 D) 47
E) None of these

48 Largest salt water lake in the world is?
A) Caspian sea B) South-china sea
Q) Lake superior D) Lake baikal
E) All of these
49 How many times India has hosted Olympic Games?
A) 1 B) 2
Q) 3 D) Never
E) All of these
50 lamnotgood....... Repairing things.
A) About B) at
Q) For D) in
E) All of these
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1  Where do Hindus worship?
A) Mosque
Q) Church

E) None of these

2  Which of the following is oval in shape?

A) Sun
Q) Moon
E) All of these

3  Capital of Gujarat is?
A) Gandhi Nagar
Q) Jaipur
E) All of these

4  Which part of the body is affected by the disease Cataract?

A) Ear
Q) Nose
E) None of these

5  We breathe in Oxygen and breathe out?

A) Oxygen
Q) Carbon dioxide
E) All of these

6 Divide 782 by 5 and write the quotient and remainder?

A) 156 and 2
Q) 156 and 3

E) None of these

o = = = '

Gurudwara

Temple

Egg
Football

Ahmedabad
Udaipur

Eye
Throat

Carbon monoxide

Nitrogen

155and 1
155 and 2

7  In which of the following computer program we can create picture?
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A) MS-Word B) MS-Excel
Q) Paint D) Notepad
E) All of these

8 How many players are there in a basket ball team?

A) 4 B) 5
Q) 6 D) 7
E) All of these

9 Verification of login name and password in computer is called?
A) Configuration B) Assessibility
Q) Authentication D) Loggingin
E) All of these

10 Convert 2.2kg into grame?
A) 220 gram B) 2200gram
Q) 22 gram D) 2000 gram
E) All of these

11 Kolkata is situated on the bank of river?

A) Yamuna B) Ganga
Q) Sutlej D) Hooghly
E) None of these

12 Round 5515 to nearest 100?

A) 550 B) 5000
Q) 5500 D) 5600
E) None of these

13  Which place is known as Pink city of India?

A) Jaipur B) Kolkata
Q) Delhi D) Pune
E) All of these

14 Largest bank in India is?
A) ICICI Bank B) State Bank of India
Q) HDFC Bank D) IDBIBank
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E) All of these

15 What is the name of India's National Aquatic Animal?

A) River Dolphin B) Crocodile
Q) Shark D) Blue Whale
E) None of these

16 Old name of Mumbai was?

A) Mombay B) Ankara
Q) Kanpur D) Bombay
E) All of these

17 Longest river of India is?

A) Ganga B) Sutlej
Q) Mahanadi D) Krishna
E) None of these

18 If x +22=50, then find the value of x?
A) 18 B) 28
Q) 38 D) 30
E) All of these

19 Which country is known as Land of Rising Sun?

A) South Korea B) India
Q) China D) Japan
E) None of these

20 Which state is known as Spice Garden of India ?
A) Tamil Nadu B) Kerala
Q) Kamataka D) Andhra Pardesh
E) All of these

21 How many times India have won the cricket world cup?

A) Never B) Onetime
Q) Two time D) Threetime
E) None of these

22 LlLargest gland in the human body is?
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A) Kidney B) Heart
Q) Liver D) Lungs
E) All of these

23

24

25

26

27

28

29

Add: 7123+9803=?

A) 16936 B) 16926
Q) 16946 D) 16956
E) None of these

How many Planets are there in our Solar System?

A) 6 B) 7

C) 8 D) 9

E) All of these

Which does not belong to the group - Curd, Milk, Butter.

A) Cheese B) Curd
Q) Milk D) Butter
E) None of these

Which of the following number is divisible by 2,5and 8?

A) 30 B) 40
Q) 50 D) 60
E) All of these

Which of the following is not a domestic animal?

A) Camel B) Sheep
Q) Goat D) Fox
E) None of these

Which pf the following former President of India and a scientist died recently?

A) Pratibha Patil B) Pranab Mukherjee
Shankar Dayal

Q) A P J Abdul Kalam D) Sharma

E) All of these

Which of the following is the highest mountain in the world?

A) Mount Everest B) Kanchanjunga
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Q) K2 D) Makalu
E) None of these
Mark Zuckerberg is the founder of?
A) Facebook B) Microsoft
Q) Snapchant D) Inlet
E) All of these
Total number of bones in a human body are?

31

32

33

34

35

36

A) 200 B) 206
C) 216 D) 226
E) None of these

How many legs does ants have?

A) 4 B) 6
Q) 8 D) 10
E) None of these

Which one is different from the other three?

A) Blind B) Deaf
Q) Dumb D) Idiot
E) All of these

Which of the following is correctly spelt?

A) Competition B) Compitition
Q) Compitetion D) Competetion
E) None of these

What comes in place of the question mark(s) in the given sequence-12,15,?,21,24

A) 16 B) 17

Q) 18 D) 19

E) All of these

Baby of Kangaroo is called?

A) Joey B) Kitten
Q) Colt D) Cub
E) None of these
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37 If Tailor works with Scissor, then Farmer will work with?
A) Crop B) Plough
Q) Hammer D) Spade
E) All of these
38 Which number will completely divide 18,36 and 48?

39

40

41

42

43

44

A) 4 B) 6
Q) 7 D) 8
E) All of these

Opposite of Sharp is?

A) Blund B) Pointed
Q) Crisp D) Knifelike
E) None of these

Where does a pig live?

A) Sty B) Stable

Q) Kennel D) Burrow

E) All of these

Ram travels to North ans walks | km, then turns left and walks 2 km and again

turns left and walk 1km. In which direction is he moving now?

A) East B) Woest
Q) North D) South
E) None of these

What comes in place of the question mank(s) in the given sequence -30,24,18,12?
A) 4 B) 6

Q) 10 D) 8

E) All of these

How many number between 1 to 100 are divisible by 9?

A) 10 B) 11
Q) 12 D) 13
E) None of these

Where does the sun set?
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A) East B) West
Q) North D) South
E) None of these

45 Word meaning of Huge is?

A) Many B) Few
Q) Extremely Small D) Extremely Large
E) All of these

46 Which of the following letters will form the color -ORANGE

A) GNAIOR B) EORMGA
Q) ROGAEN D) NEAGOI
E) None of these

47 Whatissun?

A) Star B) satellite
Q) Planet D) Asteriod
E) None of these

48 How many colours are there in the National flage of India?
A) 1 B) 2
) 3 D) 4
E) All of these

49 Capital of Canadais?
A) Ottawa B) canberra
Q) Montreal D) Victoria
E) All of these

50 Currency of Russia is?

A) Yuan B) Ruble
Q) Yen D) Won
E) None of these
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Pratice Test
Paper - 8

1  Which festival celebrates the victory of good over evil?
A)  Dussehra B) Holi
C) Diwali D) Ram Navami
E) None of these
2  The planet closest to the sun is?
A)  Mercury B) Venus
C) Mars D) Earth
E)  All of these
3 Which is not an example of uncountable nouns?
A)  Rice B) water
C) Eggs D) meat
E)  All of these
4  The Bhakra Dam is built across the river?
A)  Chenab B) Tapti
C) Sutlej D) Ravi
E) None of these
5 The most abundant gas in the earth's atmosphere is?
A)  Carbon dioxide B) Hydrogen
C) Nitrogen D) Oxygen
E) None of these
6  Which of the following does not form the central Government?
A)  President B) Governor
C)  Prime Minister D) Home Minister
E) None of these

7 Guwahati is situated on the bank of the river?
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10

11

12

13

14

A) Narmada B)
C) Hooghly D)
E) None of these

We must not .......... Trees. We must protect them.
A)  cutdown B)
C) getdown D)
E)  All of these

1/3+3/18 =?

A) 1 B)
c 2 D)
E) None of these

Which of the following river is not rain-fed?

A)  Krishna B)
C) Mahanadi D)
E)  All of these

If 0is divided by 100, we get:

A) 100 B)
¢ o D)
E) None of these

Write 39 in Roman Numerals.

A)  XXXIX B)
C) XXXV D)
E) None of these

Kavaratti is the capital of:

A)  Andaman and Nicobar island B)
C) Dadraand Nagar Haveli D)
E)  All of these

Very large land masses are called:

A)  Continents B)
C) Ocean D)
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Brahmaputra

Teesta

fall down

take down

1/2
1/3

Godavari

Ganga

50

XXIXX
XXVII

Daman and Diu

Lakshadweep

Countries

Galaxy
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E) None of these

15 The festival known as ............ comes after one month of fasting.
A)  Id-ul-Fitr B) Diwali
C)  Christmas D) Navroz

E) None of these
16 The smallest 4-digit number formed by the digits 5, 0, 3, 8 is.
A) 5380 B) 8305
C) 3858 D) 3850
E)  All of these
17 Capital of Himachal Pradesh is:
A)  Chandigarh B) Shimla
C) Ooty D) Manila

E) None of these

18 North Americais to the ............ of Europe.
A)  North B) south
C) East D) west

E) None of these

19 Nairobi is the capital of?
A)  Zimbabwe B) Uganda
C) Kenya D) Nigeria
E)  All of these

20 The place value of 2 in 2893 is:
A) 2000 B) 200
c) 20 (D) 2
E)  All of these

21 The longest dam in India is?
A)  Bhakra Dam B) Hirakud Dam
C)  Nagarjujna Sagar Dam D) Kosi Dam
E)  All of these

53| Page

N4
a,



D 5l &t |, <&
Knowledge Is The Key Of Success GW(—“EaQ hshala

22

23

24

25

26

27

28

Peter has 2 daughters and 1 son. He divided Rs 1560 equally among them. How much money
did each child get?

A) 320 B) 420

C) 520 D) 620

E) None of these

John has a farm. He bought a cow for Rs 6500, a horse for Rs 9500 and a buffalo for Rs 7520.
How much money did John spent in all?

A) Rs 23525 B) Rs24520

Q) Rs 23520 D) RS22520

E) None of these

Divide the largest 3 -digit number by 3.

A) 222 B) 333

C) 444 D) 555

E) None of these

Who was the first Indian astronaut to go to space?

A)  Rakesh Sharma B) Mahesh sharma

C)  Prakesh Sharma D) Dharmesh sharma
E) None of these

The least populated State in India is?

A)  Sikkim B) Arunachal Pradesh
C)  Uttarakhand D) Mizoram

E) None of these
Find the difference between the largest 4-dight number and the largest 3-dight number.

A) 900 B) 8000

C) 9000 D) 9800

E) None of these

Which state has the longest coastline?

A)  Maharashtra B) Karnataka
C) Tamil Nadu D) Gujarat
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29

30

31

32

33

34

35

E) None of these

Ferdinand Magellan who proved that the earth is round like a ball was a sailor from which

country?
A)  Portugal B) Spain
C) France D) Britain

E) None of these

What is the capital of Gujarat?

A)  Gandhinagar B) Allahabad
C) Ahmedabad D) Surat

E) None of these

In a classroom 3 children sit at a desk. There are 48 children in the class. How many desks are

needed?
A) 15 B) 16
c) 17 D) 18

E) None of these

Digging up of minerals from inside the earth is called:

A)  Farming B) Mining
C) Forestry D) Fishing
E) None of these

X -234 = 165. Find x.

A) 399 B) 69

C) 299 D) 199

E) None of these

The heart, blood and blood vessels make up the ................ Of the human body.
A)  circulatory system B) breathing system
C) digestive system D) excretory system

E) None of these

Fing the odd from the following.

A) Kameez B) Pyjama
C)  Churidar D) Trouser
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E) None of these
36 The Class 4 english books has 85 pages. Find the number of pages in 7 english books.

A) 495 B) 595
C) 695 D) 395
E) None of these

37 Bihuis the harvest festival of which state?
A)  Kerala B) Assam
C) Punjab D) Odisha
E) None of these

38 Which of the following is not a spice?
A) Clove B) Turmeric
C) Raisins D) Coriander
E) None of these

39 Which did can tuun its head around three-fourth of a circle?
A)  Parrot B) Crow
C) owl D) Peacock
E) None of these

40 Varanasiis in which state?
A)  Uttarakhand B) Uttar Pradesh
C) Himachal Pradesh D) Guijarat
E) None of these

41 Which of the following is not a herbivores animals?
A)  Horse B) Giraffe
C) Zebra D) Bear
E) None of these

42  Which of the following give support to the plant and make it stand upright?
A)  Leaves B) Flowers
C) Stem D) Root
E) None of these

43  Which of the following reptile animals lay eggs?
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44

45

46

47

48

49

50

A)  Crocodiles B) Lizards

C) Snakes D) All of these
E) None of these

Which of the following planet has life?

A)  Venus B) Mercury
C) Earth D) Jupiter

E) None of these

A group of people who work on and operate a ship, airaft, etc. is called:
A)  Crowd B) Team

C) Crew D) Company
E) None of these

Which is the softest rock?

A)  Dimaond B) Granite
C) Coal D) Chalk

E) None of these

Write 1500/125 in simples form.

A) 12 B) 6

¢ 18 D) 25

E) None of these

The earth rotates on its:

A)  Orbit B)  Orbit

C) Equator D) Pole

E) None of these

Which of the following numbere is not divisible by 11?

A) 77 B) 121

¢ 14 D) 176

E) None of these

Fill in the blanks: We .......... A tube of toothpaste.
A)  squeeze B) pinch
C) stroke D) press
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E) None of these

Pratice Test
Paper - 9

1 Which of the following was the son of Akbar?
A) Jahangir B)  Babur
Q) Shahjahan D) Aurangzeb
E) All of these

2 Old name of Sri Lanka was?
A) Ceylon B) Congo
Q) Cawnpore D) Christina
E) None of these
3 A place where large where number of books are kept for people to read and hire is
called?
A) Museum B) Library
Q) Market D) Aquarium

E) All of these

4 A man buy 10 mangoes for Rs. 100. What is the cost of 30 mango?

A) Rs. 3000 B) Rs.30
Q) Rs. 300 D) Rs.1000
E) None of these

5 Fill in the blanks: It ............ raining yesterday.
A) Is B) was
Q) Were D) has

E) All of these

6 Fill in the blanks: We ............ watching cricket.
A) Is B) was
Q) Were D) has
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10

11

12

13

14

E) All of these

Sal, Neem, Banyan, Teak, and Peepal are?

A) Fruits B)
Q) Trees D)
E) All of these

Kumbh Mela is celebrated in India after every?

A) 1years B)
Q) 3 years D)
E) None of these

Moon is the satellite of which planet?

A) Mercury B)
Q) Earth D)
E) All of these

Deficiency of loding causes?

A) Goitre B)
Q) Cataract D)
E) None of these
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Vegetables

Flowers

2 years

4 years

Venus

Jupiter

Malaria

scurvy

Which gas is most abundant in the earth's atmosphere?

A) Nitrogen B)
Q) Hydrogen D)
E) None of these

Which one is different from the other three?

A) Ganga B)
Q) Teesta D)
E) All of these

Which plant has medicinal properties?

A) Neem B)
Q) Banana D)
E) All of these

Which is the 2nd largest country in the world?
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A) Russia B) Canada
Q) USA D) China
E) None of these

15  Which is different from the other three?
A) Car B) Bus
Q) Aeroplane D) Train
E) All of these

16  Which of the following number is divisible by 2, 4, and 6?

A) 8 B) 16
Q) 20 D) 24
E) None of these

17  Which of the following animal has strong sense of smell?

A) Camel B) Sheep
Q) Goat D) Dog
E) None of these

18  Which country has the 2nd largest population in the world?

A) India B) China
Q) USA D) Russia
E) None of these

19 How many legs does a spider have?
A) 4 B) 6
Q) 8 D) 10
E) All of these

20  Which of the following is shrubs?

A) Coriander B) Rose
Q) Coconut tree D) Lotus
E) None of these

21  How many Union Territories (UT) are there in India?
A) 4 B) 5
Q) 6 D) 7
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22

23

24

25

26

27

28

29

E) All of these
Subtract the following: 8006 - 6479 =?

A) 1469 B) 1527
Q) 1587 D) 1368
E) None of these

Which of the following is a medicinal plant?

A) Neem B)  Eucalypus
Q) Aloevera D) All of these
E) All of these

How many players are there in each side a Hockey team?

A) 6 B) 8
C) 9 D) 11
E) None of these

What comes in place of the question mark(S) in the sequence- 9, 18,?, 36, 45

A) 27 B) 30
Q) 33 D) 40
E) None of these

Baby of Zebra is Called?

A) Joey B) Kitten
Q) Colt D) Cub
E) None of these

We get paper from?

A) Bamboo B) Coconut
Q) Banana D) Keekar
E) None of these

Which number will completely divide 16, 20 and 24?

A) 3 B) 4
Q) 5 D) 6
E) None of these

Opposite of Rude is?
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30

31

32

33

34

35

36

A) Dull B)
Q) Polite D)
E) None of these

Who was the first person to travel in outer space?
A) Yuri Gagrin B)
Q) Alexei Leonov D)
E) All of these

Which of the following plant give us Gum?

A) Keekar B)
Q) Lavender D)
E) All of these

A plant that cannot stand on its own is called?

A) Climber B)
Q) Shrub D)
E) None of these
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Careful

Cruel

Denis Tito

Neil Armstrong

Tulsi

Eucalyptus

Tulsi

Tree

How many nunbers between 1 to 100 are divisible by 5?

A) 10 B)
C) 20 D)
E) None of these

Which month has least number of days?

A) January B)
C) March D)
E) None of these

Guess the missing number: 6, 12,?, 24, 30.

A) 16 B)
C) 20 D)
E) All of these

How many times do Muslims offer namaz in a day?

A) 2 times B)
Q) 4 times D)
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37

38

39

40

41

42

43

44

E) None of these
What is Moon?

A) Star

Q) Planet

E) All of these

B)
D)
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Satellite

Asteroid

A Computer device that displays pictures and text on its screen is called?

A) Keyboard

Q) Monitor

E) All of these
Capital of Australiais?
A) Ottawa

Q) Montreal

E) None of these

Currency of Germany is?

A) Euro
Q) Yen
E) None of these

P V Sindhu is associated with which sports?

A) Worestling

Q) Chess

E) None of these

The time Quarter Past 4 means?
A) 03:45

Q) 04:15

E) All of these

Indian Army Day is celebrated on?
A) 15th January

Q) 15th March

E) None of these

Female of Horse is called?
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A) Cow B) Gosse
Q) Jenny D) Mare
E) All of these

45  Which of the following blood group is universal donor?

A) A B) B
C) 0 D) AB
E) None of these

46  Place where animals and birds are kept?

A) Aviary B) Aquarium
Q) Park D) Zoo
E) None of these

47  Which of the following fruits has no seeds?
A) Guava B) Watermelon
Q) Orange D) Banana
E) All of these

48  Which fruit given us oil?

A) Guava B) Apple
Q) Coconut D) Mango
E) None of these

49 To express the distance between Delhi and Mumbai which unit we will use :
A) Centimetre B) Metre
Q) Kilometre D) Decametre
E) All of these

50 Select the Adjective from the given sentence: We wear warm clothes in winter.

A) Wear B) Warm
Q) Winter D) Season
E) All of these
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Pratice Test
Paper - 10

h—

1 Ifit costs Rs 450 to buy 9 boxes, then what is the cost of 1 such books?
A) 45 B) 50
c) 9 D) 27
E) None of these
2  Identify the pronoun in the following sentence- Please open the gate for them.
A) Please B) Gate
C) Them D) Open
E) All of these
3 Which of the following word would give the name of a comic/film superhero?
A) MIESPARDB B) ERIMSPDNU
C) MIASDRPNE D) DNAPSEIMO
E) None of these

Sanjay travelled 2km by car and 600m by bike and 250m by walking. Calculate the

4
total distance travelled by him in m?
A)  2650m B) 2850m
C) 2625m D) 2900m

E) None of these
5 Largest snake in the world is?
A) Black Mamba B) Rattlesnake
C) King Cobra D) Anaconda
E) All of these
6 Whatis 19,432 rounded to nearest hundred?
A) 19000 B) 19400
C) 19430 D) 19300
E) All of these
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10

11

12

13

Which product you will use to protect yourself from sunlight?

A) Soap B) Perfume

C) Sunglass D) Mobile

E) None of these

Ganga has a box in which he can pack 12 laddoos. How many boxes does he need for
packing 60 laddoos?

A) 5 B) 8

c) 10 D) 6

E) All of these

Which is different from the other three?

A) 28 B) 56

C) 63 D) 48

E) None of these

A football field is 100m long and 50m wide. Find the boundary of the field?
A) 150m B) 200m

C) 300m D) 400m

E) All of these

Which of the following is a Continent?

A)  United States of America B) South America

C) Great Britain D) India

E) None of these

A large area of land covered with sand is called?

A) Ocean B) Peninsula

C) Desert D) Island

E) All of these

Choose the word which can be substituted for the given sentence - A doctor
specialised in children and their diseases .

A)  Oncologist B) Cardiologist

C) Obstetrics D) Paediatrician

E) None of these
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14

15

16

17

18

19

20

21

What is the full form of cricket tournament IPL?

A) International Premier League B) Indian Player League
C) Indian Premier League D) International Player League
E) All of these

Which of the following country does not share its border with India?

A) Pakistan B) Bangladesh

C)  Srilanka D) Nepal

E) None of these

Which word is opposite in meaning to the word SMOOTH?

A) Clear B) Rough

C) Transparent D) Blurred

E) All of these

Express the amount in figures : 25 rupees and 50 paise?

A) Rs2.550 B) Rs25.50

C) Rs255.0 D) Rs25.05

E) All of these

Which of the following is not an example of pulses?

A) Rajma B) Arhar Dal

C) KabuliChana D) Cashew Nut

E) None of these

Rohan cut a shape out of a paper. The shape had 4 sides of same length. Which of the
following shape Rohan has made?

A) Circle B) Rectangle

C) Square D) Triangle

E) All of these

Part of plant above the ground is called?

A)  Shoot B) Root

C) Flowers D) Branches

E) None of these

The area of rectangle is 24 cm. If length of the rectangle is 6¢cm, find its breadth?
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22

23

24

25

26

27

28

A) 12cm B) 4cm

C) 18cm D) 20cm

E) All of these

Select the missing number in the sequence - 21,28,35,?,49

A) 63 B) 40

C) 56 D) 42

E) None of these

Which of the following word is correctly spelt?

A) Flowers B)  Fruit

C) Substance D) Glossery

E) None of these

On the Republic Day, a grand parade is held at :

A)  Chandni Chowk B)  Vijay Chowk
C) MG Road D) Rajpath

E) None of these

Rearing of hens, ducks and geese for their eggs and meat is called?

A) Cattle farming B)  Fish farming
C) Poultry farming D) Dairy farming
E) All of these

National Sports Day in India is celebrated on?

A)  29th August B)  29th September
C) 29th October D) 29th November
E) None of these

Which word is similar in meaning to the word DROWSY?

A) Afraid B) Clever

C) Sleepy D) Tired

E) All of these

Who is the current Chief Minister of Uttar Pradesh (April 2017)?

A) Rajnath Singh B)  Arjun Jaitley
C) Akhilesh Yadav D) Yogi Adiyanath
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29

30

31

32

33

34

35

E) None of these

What number si 1/12 of 108?

A) 7 B) 9
C) 8 D) 5
E) All of these

Select the helping verb in the following sentence - The other children were playing

outside.
A) The B) Other
C) Children D) Were

E) None of these

Who among the following was once President of India?

A) Lal Bahadur Shastri B) Shankar Dayal Sharma
C) Viswanath Pratap Singh D) Morarji Desai
E) All of these

Fishes breathe with the help of?

A) Stomata B) Nose

C) AirHoles D) Gills

E) None of these

Which of these are tap roots?

A) Balsam B) Hibiscus

C) Mustard D) All of these
E) All of these

Which of the following in an Omnivores?

A) Snake B) Zebra

C) Crow D) Lion

E) None of these

Sharp pointed claws of an Eagle is called?

A) Talons B) Beak

C) Perch D) Feather

E) All of these

69| Page



D 5l &t |, <&
Knowledge Is The Key Of Success GW(—“EaQ hshala

36

37

38

39

40

41

42

43

Which of the following is not a sense of organ?

A) Eyes B) Brain

C) Nose D)  Skin

E) None of these

Which planet is called the Morning star and the Evening Star?

A) Earth B) Mars

C) Jupiter D) Venus

E) All of these

The Golden Temple is situated at?

A)  Amritsar B) Ambala
C) Chandigarh D) Ludhiana
E) None of these

Find the odd from the following?

A) Dhoti B) Turban
C) Lungi D) Pyjama
E) All of these

Which of the following is the harvest festival of India?

A) Bihu B) Pongal
C) Onam D) All of these

E) none of these

In which direction a needle of a compass always points?
A) North B) South
C) East D) West

E) All of these

Find the missing number in the following series - 45,?, 36, 33, 31, 30.

A) 38 B) 38

C) 40 D) 42

E) None of these

Identify the article in the following sentence - Doctor advised me to eat an apple every

day.
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A) Doctor B) to
C) Eat D) an

E) All of these

Which of the following word is most nearly the same in meaning to the given word
44

Ignite?
A) Discourage B) Burn
C) Care D) Boring

E) None of these
45 Which of the following word is opposite in meaning to the word - Provoke?
A) Mislead B) Spark
C) Attack D) Pacify
E) All of these
46 Mahatma Gandhi was born on?
A) 2nd September B) 2nd October
C) 2nd November D) 2nd December
E) None of these
47 How many zeroes are there in one million?
A) 3 B) 4
C) 6 D) 5
E) All of these
48 Which of the following is not a river of India?
A) Brahmaputra B) Damodar
C) Nile D) Sutlej
E) None of these
49 National Capital Territory of India is?
A) Chandigarh B)  Pucucherry
C) New Delhi D) Lakshadweep
E) None of these
50 A book of maps is called?
A) Globe B) Caricature
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C) Biography D) Atlas
E) All of these
ANSWERS - 6
1 C 2 c 3 D 4 A 5 B 6 A 7 B 8 c 9 B 10 A
11 B 12 C€ 13 C€C 14 C 15 B 16 B 17 B 18 D 19 D 20 B
21 € 22 C 23 B 24 A 25 A 26 D 27 C 28 A 29 A 30 C
31 € 32 A 3 C 334 B 3 D 336 A 37 A 3 B 39 A 40 A
41 D 42 C 43 B 44 C 45 A 46 B 47 C 48 A 49 D 50 D
ANSWERS - 7
1 D 2 B 3 A 4 B 5 C 6 A 7 C 8 B 9 cC 10 B
11 D 12 C 13 A 14 B 15 A 16 D 17 A 18 B 19 D 20 B
21 C 22 C 23 B 24 C 25 C 26 B 27 D 28 C 29 A 30 A
31 B 32 B 3 D 3 A 35 C 36 A 37 B 3 B 39 A 40 A
41 D 42 B 43 B 44 B 45 D 46 C 47 A 48 C 49 A 50 B
ANSWERS - 8
1 A 2 A 3 c 4 C 5 C 6 B 7 B 8 A 9 B 10 D
11 € 12 A 13 D 14 A 15 A 16 C€C 17 B 18 D 19 C 20 A
2 B 22 C 23 C 24 B 25 A 26 A 27 C 28 D 29 A 30 A
31 B 32 B 3 A 34 A 35 A 33 B 37 B 38 C 39 C 40 B
41 D 42 C 43 D 44 C 45 C 46 D 47 A 48 B 49 C 50 A
ANSWERS -9
1 A 2 A 3 B 4 C 5 B 6 c 7 c 8 D 9 cC 10 A
11 A 12 D 13 A 14 B 15 C 16 D 17 D 18 A 19 C 20 B
2 D 22 B 23 D 24 D 25 A 26 C 27 A 28 B 29 C 30 A
31 A 32 A 3 C 34 B 35 B 36 D 37 B 38 C 39 B 40 A
41 D 42 C 43 A 44 D 45 C 46 D 47 D 48 C 49 C 50 B
ANSWERS - 10
1 B 2 c 3 CcC 4 B 5 D 6 B 7 c 8 A 9 D 10 C
11 B 12 € 13 D 14 C 15 C 16 B 17 B 18 D 19 C 20 A
2 B 22 D 23 C 24 D 25 C 26 A 27 C 28 D 29 B 30 D
31 B 32 D 3 D 343 C 33 A 3 B 37 D 3 A 3 B 40 D
41 A 42 C 43 D 44 B 45 D 46 B 47 C 48 C 49 C 50 D
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